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1-Sample t-Test

The 1-sample t-test determines whether tf

Collecting the data
v Collect a andom sample of data,
» Collect enough data.

The sample should be large enough t
the target value are significantly diff
and the target you can detect wit*
implications for your process, '

& sgndicantly different from a target value

sth reasonable certanty, whether the process mean and

-
2 determines how large of a ddference between the mean
Addtiomally, f you enter the difference that hat practicst

s the chance that you will actually detect that difference.

collect the data.

vy distributed # the sampie size is at least M)

Evaluating the results

v Euamine unusal dats poits,
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Gage R&R Worksheet

Setting up the study

standard deviation is avadlable.

v Select at least 3 operators for the study,

v Operators should measure each part twice,

Conducting the study

Assumptions

¥ Select parts from a stable process.

Gage R&R worksheet helps you set up your study in a custom Minitab worksheet.

~ Operators should measure at least 10 parts — or more if no historical estimate of the total process

¥ Select parts that represent the typical process output over a long period of time.

v Operators should measure the parts under typical conditions,

¥ Have operators measure parts in a random order to minimize bias.

¥ The measurement device should be properly callbrated,

v To determine whether the measurement system can be used to accept or reject parts, you must supply
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